
Να υπολογίστε το μέγιστο και τον ελάχιστο αριθμό ενός αγνώστου πλήθους όρων. 

διαδικασια ΑΓΝ_ΠΛ_ΜΕΓΙΣΤΟ_ΕΛΑΧΙΣΤΟ; 

δηλωση ΤΕΡΜΑΤ,ΑΡΙΘΜΟΣ,Ι,ΜΕΓ,ΕΛΑΧ,Ν ακεραιοι ; 

αρχη 

διαβασε ΤΕΡΜΑΤ ; 

διαβασε ΑΡΙΘΜΟΣ ; 

I 1 ; 

ΜΕΓ ΑΡΙΘΜΟΣ ; 

ΕΛΑΧ ΑΡΙΘΜΟΣ ; 

Ι_ΕΛΑΧ 1 ; 

Ι_ΜΕΓ 1 ; 

εφοσον ΑΡΙΘΜΟΣ≠ΤΕΡΜΑΤ επαναλαβε  

 (εαν ΑΡΙΘΜΟΣ>ΜΕΓ  

  τοτε (ΜΕΓ ΑΡΙΘΜΟΣ ; 

   Ι_ΜΕΓ Ι ) 

 αλλως εαν ΑΡΙΘΜΟΣ<ΕΛΑΧ ; 

  τοτε (ΕΛΑΧ ΑΡΙΘΜΟΣ ; 

   Ι_ΕΛΑΧ Ι ;)) 

διαβασε ΑΡΙΘΜΟΣ ; 

 Ι Ι+1 ; 

Ν Ι-1 ; 

τυπωσε Ν ; 

τυπωσε ΜΕΓ,ΕΛΑΧ ; 

τυπωσε Ι_ΜΕΓ,Ι_ΕΛΑΧ ; 

τελος 

 




